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QUARTERLY EXAMINATION 2024

N -:10! Htl %

MARKS 100

“.'Instructlons- L

: 1 Write clearly and teglbly w!thout mlstakes and overwrlt!ng utmsing the -k
- maximum time allotted for the exam.
Answel should be in your own style without changmg the main core concept
'. -_3 Use only black or.blug Ink pen to write the exam.
A Draw clear diagrams whtrevet necessary.. . |

o Chonst. 2 the correct answar. ST 14X 1 = 14
L I (A X B) = 6 and A= {1, 3} then’ n(B) is R B
AL b2 g3 . d)s

If there are 1024 relations from a set A= {1 2, 3, 4, 5} to a set B, then the |
number of elements inBis o g

-‘_d)3 e b)2 | c)4~ : _'.‘c;--

3 Let n(A) = m, and n (B) =n then the tota. ~.Jmber of non - empty rel‘atio'né
- that can be defined from A to B is | ’ '

a) m" Cb)yn" c) 2mn | d.) ":2”‘“ ' o
:'4." If {(a,8), (6,b)} represents an Identtty function, then the value of a and bare -
5 respectlvely | _ -
@ DE8) 68 d‘)'(e 6)
5. | Iff: A---=>Bisa bljective function and if n (B) 7 then n (A) is equal to |
. a)7 - b4s . ol d) 14 |

6. The sum of the exponents of the prime“factors in‘th'e prime factorization of 1729 is

ayt ﬂ; 2 93 A4 ,
7 Given Fy =1, F2=3and Fy = Fn 1 + Fn 2 then F5 is
a3 b)5 8 d) 11

8 If 6 times of 6t term of an A P |s equal to 7 tlmes 7th term then the 13th term
. ofthe APis o |

2) 0 e 97 . *d)v13 |
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5 ,9‘,,"" N 91/* & 2y’ -2y 42 Ty =2y + 1)
‘t;,:_“’, Tt ”(mu iy 9 T Mo 2 ndh

1201
= a)Parallel to x axls  b) Parallel to y axis

vl ¢) Passing through the origin d) Passing through the point (O 11)

14,

s

L e R R ik ,“_«71};{ st o p
© 21, Find a, and o,, whose n* term s ™

,1lw%yﬁhuﬂaf(iﬁfﬂ?tﬁik>un,,!1 ,) (1 b224~3 + i
S ) 14400, . B) 14200
e (1

M WKELymEEedl Oescdya2ied

N .ﬂl-;-?" ’
'W LR

erXAw{(zm(24)m5)m4)w3)w4n4mdAmma
A= {1;2,3,4...45) and R be the relation defined as is square of a number-
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- r)L4260 a)1452o T e
T hii ﬁmutmn of tlw 5yatr—*m W A Yoo 37 w7 -~6 ~7y 4 7z e ‘7 3z . 9 ls o

)xmvl v%z, 15«3 | )yr 1, i/»» 2,253 E

nAlMN Al % GO0, NhrpO”lfALMN APQRthenthevawe<ﬁ 4Ris"
9)40“ | by 700 c) 300 dy) 1109 -
The stralght line given by the equation x = 11 s

If Iopr‘ of‘ Lhn Iln(" PQ l'; "/,% thien ,,alopc m’ the perpcndicu!ar bif;ector of PQ is

- Answerany 10 of the following questions. 28 th questlon is'corﬁpulsory. |

10x2= 2of

cm A, ertc R as a Subset of A X A, Also find the domain and range of R,

17, LetA={1,2,3},Be={4,56,7rand f= {(1 4), (2,5) (3 6)}rbc. function from:
. Ato B, Show that f Is one - one but not onto funcuon : n
18, Find k If fof (k) = 5, where f (k) = 2k -1 . i
b 3 19»}‘&’ and *b’ arcﬁ two posltive integers such that d“ X b" = 800 flnd a’ and ‘b
Complcﬁte % such that 107 = % (mod 19), S

Jﬂi;L . e
I, o= ” 3 ,-". ﬂ iS QVCH, ﬁf‘"N

l i
241 nlfodd,nﬁN -

L ,/jrfj}ni‘" MATI?ISPAQE. ;s

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

» kg Y

2.

TR 11

o

3L

B s L ab]

30.

. _ Slmplcfy

iy 3
:.[DE//BC If D == and AC = 15 cm F1nd AE
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If3+k18k5k+1areinAP thenfindk, . .

.‘»:.lv-'md the excluded values Qf yy25' .

\:‘_ N

X6t 12
4 8 _,10t1

3_In AABC Db and E are pomts on the srdes AB- and AC respectrvely such that}‘r

._,J By %3

DB 4. A

. Show t that the pomts (-3, -4) (7 2) and (12 5) are. collmear _
; 'Fmd the slope of a l|ne Jomlng the po:nts (5 J—) w1th the or|g|n

' .'_'4The fathers age is SiX times his son’s age Six years hence the age of father -
‘will be four tlmes hIS son 's age Find the present age (in years) of the son and = -

. father,

“Answer any 10 of’ the followmg questlons 42nd quest|on |s compulsory '

1oxs 50 |

‘—:vLetA {xeN/1<x<4} B = {x€w/0<x<2} andC {xeN/x<3} Verlfy that‘
A X (BnC) = (AXB) n (A X C) & _ |
LetA = [2 4 6, 10,12} B = {o 1 2 4, 5, 9} be two- sets Letf A--->B be

. a function gnven by f(x) = x/2 LA Represent this function

(') by arrow dlagram N R (Il) in a table form- R
(iii) as a. set of ordered palrs - (IV) in a graphical form | '
Iff(x) =2+ 3 g (x) = 1-2x and h (x) = 3x prove that fo (goh) = (fog) oh

If szXszXPxJXPn 113400 where P1: P2, P, P and Xy xz, x3, x are'_-

;'-'mtegers find the value of P1, P2, P3, P4 and X5 xz, x3, X

) Fmd the sum of aII natural numbers between 300 and 600 WhICh are dlv15|ble
. Find the sum'of' to n terms of the'- series'3‘+ 33 + 333 + ..‘;,. n terms.

o If A=

- ,Rekha has 15 square co!our papers of sizes 10cm, 11 cm, 12 ¢m v, 24 cm
'How much area can be decorated with these colour papers? R

6. Find the GCD of the polynomlals x3 + x2 - X + 2 and 2x3 5x2 + Sx 3

2x+1 . 2x—1‘ : 1 ' 2.B“». A e B
: and B= —— find e e PG Lt B R I AR oy
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,Find the square root of 37><2 28x3 + 4x4 +42x + 9 Polynomlal bv dWiSlOn_
'-'-method St b o : T | G DN :

gState and prove Basnc proporationality Theorem
Find the area of the quadrilateral formed by the polnts (8 5) (5 11) ( 5 12);_3

'”:r‘iand (-4, 3).

a1

- 42,

-

. Find the equatlon of the. perpendulcular bisector of the line Jomlng the P0'”t5‘

A(-4,2) andB(6 -4)

A stralght hne cuts the co- ordinates axes at A and B If the mid pomt of AB is
(2 3) Ftnd the equatlon of AB : R: : . I

-‘“I'AhSWe:'ruthefo"lhlb'\"N'iqhg‘qt-lestioﬁsl'“' i N .. 2X8= 16

,a) Construct a trlangle similar to a given triangle PQR with its sides equal to

7/3 of the correspondlng sudes of the triangle PQR (Scale factor 7/3 > 1).
(OR) |

| b) Construct a: APQR Wthh the base PQ =4.5 cm, ZR=35° and the median

- 44,

from R to RG is 6 cm.

a) A busis travelllng at a uniform speed SOkm/hr Draw the dlstance - time
graph and hence find - : : .

o “"(i) the conStahtof .variation‘ (u) how far will it travel in 1~1~ hour.

'(m) the ttme reqUIred to cover a distance of 300 km from the graph

L e , (OR) _ |
b) Draw the graph 'of Xy = 24, X, vy > 0. Usmg the graph fmd
() vy when x = 3, (i) x when y =12

L 0:0o‘o0‘00:00’“:".“:”:.. 00‘00’00:50‘.0:. :
M. Poovarasan M.Sc B.Ed
Pg Asst in Chemistry
- . Dharmapuri District
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